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U - F
SECTION - A

1. vfoeet sifee & Rvaadimar i #d 2
(A) dfRe % TR
(B) wfceel &t fafy @
(C) o & wfdeErer g7
(D) IR Tt

Reliability of sampling data depends on :

N

(A) Size of the sample
(B) Method of sampling
(C) Training of sampling
(D) All of these

2. o ol AR PR Bgam At
(B) SRE O
(C) (A) 3R (B) &
(D) - §7H &/ F1g TE

‘Which is the main source of collection of pri

(A) Published sources
(B) Unpublished sources
(C) Both (A) and (B)

(D) None of these
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3. WH e i A H A ¢

A) Lz-1
B) Lny
(C) Ll'*'LZ
2
b T
(D) 2

Formula for finding out mid-value is :

(A) Ly -I
(B) Lp+l,
o ot 39
238
2

4. HEE= % Had [has A9 g @ 7
(A) O +1
(B) -1 0
(C) -17m +1

(D) % § FE 7

The value of co-cfficient of correlation always lies between :
(A) Oand +1

(B) -1andO

(C) -1and +I

(D) None of these
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www.mseducationtv.com (¥ Scanned with OKEN Scanner



¢ MW W\ gEn am b

AN gl amn
(B) Zv8 amy

(C) amua fs

(D) wgg

The other name of pie diagram is

(A} Circular diagram
(B) Bar diagram
(C) Histogram

(D) Polygon

dhe & ol aw wa R

- 2612

. @ war fEm A et (t:'waéﬂgm)

The use of title where as possible should be in ... ; (singular/plura

e ot @1 go3 an Py o @ o @ L = (qwria/a%)

The difference between upper and lower limat is called .. ... .

Riea Rl Aaen @ oaw qea B, @ dmen @A .

Median 1s that value
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e : (%77 Ho 9w 10) P o W2 - o (A) S o (R) R R T R
ﬂaﬁ'ﬁ famm'}g-’f:
(A) ST (A) 71 &% (R) 31 7 ¥ A 0% (R) e (A) 3 WA W Y

(B) SHHFT (A) T % (R) 1 e & a1 a@ (R) S (A) F FE T 8
£

(C) S (A) 7 ¥, v 7% (R) 6 B
(D) SHFTH (A) S B, T T (R) 7 B

Note : (Q. No. 9 & 10) Read the following statement - Assertion (A) and Reason (R).
Choose one of the correct alternatives given below :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false,

(D) Assertion (A) is false, but Reason (R) is true.

9. ST (A): TR qEEE T oM A ) wEy & o 3 1
T (R) : T8 TS § org 9t @ wmn @ o B

Assertion (A) : Laspeyre Index use base year quantity,

Reason (R) : Paashe index use current year quantity,

10. aﬁmww:mmwamﬁmm=%=a§m
@ (R) : 69 T &l |

Assertion
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mmammﬁwmﬁu

26

Write down the difference between primary and secondary data.

12. 10 Rl 31 32 @ (50 %) et & wemr R & S S o AR

15 | 20

30

22

25

18

40

S0 | SS | 65

The pocket money of 10 students in following. Find mean by direct method :

15 | 20

30

22

25

18

40

S0 | S5 | 65

HYqr

OR

Fr=T oTi3l @ Herddl § Fhe9d [ 21§ 819 &6

70 | 10

500

75

13

250

8

42

Find the mean of the following data by assumed mean method :

70 | 10

500

75

13

250

8

42

13. [ Sifest 91 weEa § Ffe qe-wa ToH T FY

A | 21

03

28

32

35

36

Y 28

20

25

38

34

32

Calculate Rank co-efficient correlation from the following data :

X 21

22

28

32

35

36

Y | 28

20

25

38

34

32
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(8) 2
}déwmﬁwaﬁm%?mmamﬁl ’
What is meant by Exclusive series ? Illustrate with an example.
g4
OR
T F@ {7 S ¥ 7 g w e ¥ 7
What is Bar Diagram ? What are its features ?
18, wiferd % ger @t @ v a% a
Explain the main limitations of Statistics.
a{mmmﬂmmw%?mmawm 6

What is meant by census method of data collection ? Give its merits and

demerits.

OR

mﬁmmmﬁ?mmmmmﬁ.

What is meant by classification ? Explain its various objectives.

2612

G Scanned with OKEN Scanner



(9) 2612
17. #iftgsr i TEAH T B 6
miEg |1 (23|45 ]|6| 7
AT 3 101 121201121101 3
Find out median and mode :
Mid Value 1 2 3| 4 S| 6 ¥
Frequency | 3 | 10| 12|20 12| 10 3
Y
OR
Fr=1 st /@ w1 (Mean), wiiae (Médian) 3T 95@F (Mode) T F¢
AR 0-10 | 10-20 | 20-30 | 30-40 | 40-50
T 2 4 6 4 2
Find out mean, median and mode from the following data :
Class Interval 0-10 | 10-20 | 20-30 | 30-40 40-5(;1
Frequency 2 4 6 4 2
gE -9
SECTION-B
18. 3fYale maa & R, ARG @ iR wIEr gut ¥
(A) A TH T
(B) V= §g
(€) v= fg 7
by S
2612 P.T
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During colonial period, India's demographic profile showed :
(A)  High birth rate

(B) High death rate

(C) High infant mortality

(D) All of these

19. mmaﬁmaﬁg—{eﬂ?

(A) 1947 ¥ (B) 1948 7

}c;r 1950 & (D) 1951 #

When was planning commission established ?

(A) In 1947 ' (B) In 1948
(C) In 1950 (D) In 1951

20. WG # gia wita @ fadew W g
(A) FEA IARE F gz
(B) &=wet ¥ waiw gfe
(C) TrE= IqREA § S
‘gpy/aq'aaam

The features of Green Revolution in India is :
(A) Increase in crop production

(B) Substantial rise in the acreage
(C) Self sufficiency in food production

(D) All of the above

2612
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23.
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S F T R ad gt 7
(A) 1969 ¥

(C) 1981 ¥ (D)
In which year NABARD is established ?

(A) 1969 (B) 1982

(C) 1981 (D) 1991

(CY” o e
(D) @ewiar 27

2€

(B] 1982 H

1991 #

Number of unemployed persons = Labour force — ............... .

(A) Labour supply
(B) Work force
(C) Total population

(D) Participation rate

A (NITI) ST 3 W@ at 7 g o

NITI Aayog was established in the YEar «iciveernsens

(2/)45/2016]

(2015/2016

P.1
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24, ... frea 1 wed 97 9w owes 39 B ﬁﬁé/“ﬁ“) 1
(China/India)

................. is the largest producer of rice in the world.

(1950/1951) 1

First Five Year Plan of India was established in FERY. vnaecmr=m : (IQ%/ 1951)

W (9 Fo 26 W 27) Prefufe wo wF - s (A) AT @@ (R) A9 Re

ﬁﬁﬁfﬁ@ﬁ&? dea?rgﬁ:
(A)~"SIHFE (A) T T (R) 2 T & a0 7% (R) ANFTT (A) B qE W B

(B) SI¥FET (A) Ta1 @ (R) 391 G & o1 0% (R) SIHaT (A) T 68 WLHT A
2l

(C) SfoFa (A) §d B, I0g @ (R) 376 &I ‘

(D) I¥EFET (A) o8 &, T % (R) § &I

ote : (Q. No. 26 & 27) Read the following statement - Assertion (A) and Reason (R).

Choose one of the correct alternatives given below :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

Both Assertion (A) and Reason (R) are true and Reason (R) is not the

(B)

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

S
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26. SEET (A) : wEE R AR (FDI) e & o0 & 49 § afes B
ﬂ#(Rl:ﬁqﬂfmﬁ%ﬂW%l

Assertion (A):

FDI in China is higher than India,

Reason (R) : China is found to be more investment friendly.

27.W(A):§ﬁﬁméﬁmm§m%| 1
ﬂ%thﬁgﬁqﬁmm%mmm%mm?ﬁrﬂﬁm%n

Assertion (A) : Disguised unemployment is found in agriculture.

Reason (R) : More labour are engaged in agriculture due to joint family system.

/dwﬁwiﬁlﬁﬂwﬁﬁémmﬂﬁf@: 3

Explain any three problems faced by human capital formation in India.,

Haqr

OR

A9 A O § &Y e o oawa b

How human can be converted into human capital ?

;/rma 1 dfas &l $ 7o @ TRy 3
Explain the importance of organic farming in India.
2612 P.T.0O
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(14)

307" = & W swbern & Rdw & g Al @ @

Discuss the principle causes of the backwardness of Indian economy at ¢}

time of independence.

Agar

OR

WA B WY TR vl @ @ Rdwand w@ee T

Briefly explain the main features of Indian economy at the time |

independence.

31. arviig e it Rdgars & aof 4

Explain the features of Sustainable Development.

32. WRA 3T YiHEE 3 A qEaare a5

Explain common successes of India and Pakistan.

aRa # onfds A @i Suaterd & g #51)

33.
Describe the achievement of economic planning in India.
Yqr
OR
g # onfd® A @ sTaeearstt & que #i)
Describe the failures of economic planning of India.
2612
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34 S99 3 aw“l"““%?mﬁmﬁwmmm’h s
What is meant by economic reforms ? Explain the need for cconomic reforms
STgar
OR

&ﬁmﬁWﬁwW%?m@g@mmmﬂl

What is meant by liberalization of the economy ? Explain its main measurcs.
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